ES.EH”.L{ZE * L ?1_%* 21 l/—,.lel‘./[:cl:é

B [Hh - ﬁ%ﬁ?’t?fﬁ%ﬁ%ﬁx H S 52 - LM R

I B8 IR E S B O RGHR T RS it sh e IR —mERF) DF A FIIUR I
ZEET D,

AR T70—NIILEERAE]. EE R F&iE . :Eﬁtzl:éh?ﬂniim)—?m}al
L—3 %880, IR EERV VR OB RHR 2ol — 3 %H
95,

ek AEERT70—/IVEBRAES I L3y | ENLEF A F&E S Zal—a ]
#HEL. VIR —LRIZERT A IR T —EFOREEE NFHIEFEDX
m&-{‘*ﬂﬁf)f nRH,HE' 5 X_T._g L=6.34, 0OMLT, PA=58.2 deg

T2

10T ke

15.9 kel
o

23.6 kel
T=36 min

&

b

L] E
bt
1

Al

170 ke

—i
=2

LOG PSD (m s'kg ™)
gs-u-r-

252 eV
T=52 rmin 374 keV

S

555 ke

N EENREM TR Sl Ay
F0— LERE S — 3 THEIRLICY TR e THRIBLICRRIFELETIAO /I
R — LB OHERD R 7S XD, @ 15 0 4 60 75 0 105 F—FHFOREEER.



